C# masters

N171ya1 17N

.0'M7wW 0"MYoN7 6 77122 TIVYN 1" TAN N'WNXIN NIINI X
1-20 N11L2 O™XIPX O3 12 NAXN1 O0'N7W 090N 7W TYN N72pPNA n719 1an3J .2
TN P09 1WKI ,NNN MWL 12K NK NA'XN1 O0'N7W 090N 7W 7IYN N71pPNn n71V9 1aN3J .
W7 7w M
(Console 11702 np™ MW NIAXN) MW NTM'7 1003 02D NAXN 0102
.JOUNN MAX 0130 1K N'TNNT O'N7W 01900 7W 7YN N71Nn0 n719912aNJ .1
.JNYNAW "7XN''NN 190NN DX NN'TNNT O'N7W 090N 7W VN N731N00 N71V9 1anJ .n
190NN XXNI 12 (0 TI'K) XNN 01PN NX N'TNNT O'N7W 090N 7W 1IN N7100 07199 1203 .1
J7XN0PNN XN 17W NITNXKN NNY0W
(MwxN 7W OPTIN TN, TAX 190NN NI W OX)
NUTIN 12'XN 13 1103 1AW 01T 090NN NXK NA'XN1 0'N7W 09017 1N N71pNnn n71V9 1an3J .1
.JOuna W OvAIT 090N NNJ NININD
NINIPNA O'KXNIN O'NNN 1J1Y 0130 NX N1'TNNT O'N7W 090N 7W 7IYN N71pPNn 07189 1203 .N
.r 0pTIN) Ot
NINIPNA O'KXNIN O'NNN 131V 0130 NX N1'TNNT O'N7W 090N 7W YN N71pPNn 7199 1213 .0
LT IX OPTIN) OMAT-IND
OPTIN) OMITN NINTPNA 0NN O'KXNIN O0'IWN 0130 *J NIV0N NI13I OXA NPTIAN N71VT 1aN3T
N11N) .ANNNN NYUTIN IAXAT, 07T 'K NINIPNAW O8N O'XNIN 0J1VN 01300 N1ad (A1
(.0'nTIPN O'9'WON WA ONX'W N171V9] WNNWNY
NINIPNIAW 17X |27 O™1Th NINTPNIW O'KNN 0130 "2 W19nn OX NPTIAN 07199 1207 . X°
.(Munnnn N™MYoNN V7NN T TWNNWNA) 6 7V D71V 177K OMIT-'X0N

J'N1NY0 190N NX N1'TNNT O7W 190N N71jNN N71V9 12N3J - X 2
.NJIW 1"N1NY0 190NW 11T NU'7P7 TV O0"Y0N 7W NIAITNOV71PN NIJN12aNJ -2
J107PIW NIt 190N NX 0793 1XN7 NIJNN 7Y

false -1,190n2 NVU'91IN NY0N OK true N1'TNN1 NNY01 190N N72jNN N71V9 1aNJ - X 3
JNK
90NN 73N 1T 1T NIIW NINY0 NNJ N0'0TN1 190N NV71N NIJN 1aNJ -2
('N 702 VN7 W) TN T N1JIW NINY0 3 7130 24472 19000 nnaiT7

JINX N'7'N NAXIN VN2 XN '733W 73 ,NITNNN 7W 7YN N'72PN00 n71V9 1203 .X 4
VNN TKNAW 07NN 112N N1 NJ1NIKD N7'D0 T DK ITRN 71090
1'XN 710271 NITNNN 13107 107 .0'KN 6 77112 7N 1N TAn N'WXIN NIIN1 .2
JTINNNA N NJNIKD N'7'NN TIX DK



C# masters

Nn171ya1a y1n

227N O INWID N80[I YT N 127V MNETN D120 NN NNNR0N 1900 KN MDY 1aon”

(7=5+1+3) S M 513 5w ormw faentn cnnanTe
(11=1+3+7) .11®W7 1437 Sw mmoo 1aoarm

ATW IR0 N800 NN TTTNEY TN 0D 95018 0R9as J'I‘J:IPIJTI n71va 1ans N

TINMN'Y NAW3A 10N YOP N2 .0»aA7N DM 0Man 9ronn 30 Tna A T N LA

AP MM DR NN A TIMmR 1900 Do May rann B o Then nnan

AN YOP A TIVHN 901 53 INND Y MM 10oRTY T3 ,0Ma01 60 9> B Tvn

2apnnw B 7vn mim nx vbas »y
N VDI DNANIY NYWaa woneny o3y
Amr e A Tenb nonT

0 1 2 3 3
14 145 1852 3 22
B 77vn% 8o
Q 1 2 3 4 5 & i g e
13 1 145 é 1852 & 5 5 22 0

j' l
Q800 Q800
A-n bla)m}liv]

o F 1

12en 79D ~20n “50m

A-n  moo A-n sl ils]




C# masters

N171ya1 17N

NNNS

1 'mMaan

"

1 reference

public static void FillArrayWithRandomNumbers(int[] arr)
{
Random random = new Random();
for (int i = O; i < arr.Length; i++)
{
arr[i] = random.Next(1, 21);

1 reference
public static void DisplayArray(int[] arr)
{

for (int i = O; i < arr.Length; i++)

{

Console.WriteLine(arr[i]+",");
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public static int SumOfArrayElements(int[] arr)
{
int sum = O;
for (int i = O; i < arr.Length; i++)
{
sum += arr[i];

}

return sum;

public static int FindMinValue(int[] arr)
{

int minValue = arr[0];
for (int i = 1; i < arr.Length; i++)

{

if (arr[i] < minValue)

{

minValue = arr[i];

}

return minValue:
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int maxDigit = -1
int maxDigitIndex = -1;

for (int i = O; i < arr.Length; i++)
{
int onesDigit = arr[i] % 10;
if (onesDigit > maxDigit)
{
maxDigit = onesDigit;
maxDigitIndex = i

= void DisplayEvenNumbers(int[] arr)
int countEvenMNumbers = O:

for (int i = O; i < arr.Length; i++)
{

if (arr[i] % 2 == 0)
{

Console.Write(arr[i] +"");
countEvenNumbers++:

}

Console.WriteLine($"\nT7vn1 o~ - 1177 - 19910 nin2: {countEvenNumbersP\n");
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int sum = O:

for (int i = 0; i < arrlength; i += 2)
{

sum += arr[i];

return sum:

itic int SumOFQOddIndices(int[] arr)

int sum = O:

for (int i = 1; i < arr.Length; i += 2)

{

sum += arr[i];

return sum;
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int sumEvenIndices = SumOfEvenIndices(arr);
int sumOddIndices = SumOfOddIndices(arr);

if (sumEvenIndices > sumOddIndices)

e WriteLine("o" - 117-" 5

e WriteLine("o- " 1171-" 5

ic void CheckDifferenceBetweenSums(int[] arr)

int diff = Math.Abs(SumCOfEvenIndices(arr) - SumOfOddIndices(arr));

if (diff <= 6)

ole. WriteLine("6 su nv1v 11 =

e.WriteLine("6 2v nziv o211
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void Main(s

nt[] numbers = new

FillArrayWithRandomMumbers{numbers);

DisplayArray(numbers);

umOfArrayElements(numbers);

e.WriteLine($"110m2 012~ 50 01008 {sum}");

nt minValue = FindMinValue{numbe:
e.WriteLine($"11vna -%n-1-m

i sumOddIndices = SumOfOddIndices(numbers);

e.WriteLine($"o~*117-"2 mini@Ena o 2700 o120t {sumOddIndices)"):
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static int GetDigitCountWithWhile(int number)

{

int digitCount = 0;

while (number 1= 0)
{

// *71Enn 19onnn
number /= 10;
digitCount++;

}

return digitCount:;

static void Main(string[] args)

{

Console.WriteLine("110x21 19on 170:");
int firstNumber = int.Parse(Console.ReadLine()):

Console.WriteLine("" 1w 19on 11n:");

int secondNumber = int.Parse(Console.ReadLine());

int pairsCount = O;

while (GetDigitCount(firstNumber) == GetDigitCount(secondNumber))
{

pairsCount++;
Console.WriteLine(" 1 101 1900 17m:");
firstNumber = int.Parse(Console.ReadLine()):

Console.WriteLine(" 1w 19on 11n:");
secondNumber = int.Parse(Console.ReadLine()):

}

Console.WriteLine(pairsCount);
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static bool IsDigitExistsInNumber(int number, int digit)

{

while (number = 0)

{
if (number % 10 == digit)

{

return true:

}

number /= 10:

return false:

static void Main(string[] args)

{

Console.WriteLine("190n 110:");
int number = int.Parse(Console.ReadLine()):

int count = O;
while (number 1= Q)

{

int currentDigit = number % 10;

number /= 10;
if (IsDigitExistsInNumber(number, currentDigit)==false)

{

count++:

}

Console.WriteLine(count);
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public static int LongestWord(string[] arr)

{

int maxLength = O;

for (int i = O; i < arr.Length; i++)
{
if (arr[i]lLength > maxLength)

{
maxLength = arr[i].Length;

}

return maxLength;

}

0 references

static void Main(string[] args)

{

string[] arr = new string[6];
for (int i = O; i < arr.Length; i++)

{

Console.WriteLine("enter a word");

arr[i] = Console.ReadLine();

}
Console.WriteLine(LongestWord(arr));
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public static int sicomi(int num)
{
int sum = O;
while (num>0)
{
int rightdig = num % 10;
if (rightdig % 2 I= 0)
sum += rightdig:
num /= 10;
}

return sum;

}

0 references

static void Main(string[] args)

{
int[] A = new int[30]
int[] B = new int[60]
for (int i = O; i < BLength; i++)
{
if (i%2=:20)
{
B[i] = A[i / 2]
}

else

{
B[i] = sicomi(B[i-1]):




